	Α	В	С	D	E U	W AA	AB	Α¢	AD	AE	AI AG	AH A	AJ AJ	AK
1	Did # 15 //0	25 026 Ignitorial Supplies												

2 3 \* Evaluation is Exclusive of Sales Tax

4 5	Category	y I - Janitorial Chemicals		(F) Royal P Santa Fe S		(H) Sierra Of Sacrame		(I) JC Fremo		(J) West Coast Janitorial Placerville, CA		(K) Sac Val Jar West Sacra		
	n. I		Estimated			Extended		Extended		Extended		Extended		Extended
6	Bid Item #	Description	Quantity	Unit of Measure	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price
7	1	Liquid Hand Soap - Antimicrobial with pump - 1 bottle	60	Bottles	\$2.73	\$163.80	\$2.30	\$138.00	\$1.12	\$67.20	\$2.50	\$150.00	\$2.55	\$153.00
	_	Scouring Powder Cleanser with		Dotties .	Ψ2.73	Ψ103.00	Ψ2.55	ψ <b>1</b> 50.00	V-1.12	ψο/1 <u>2</u> 0	ψ2.55	Ψ250.00	Ψ2.55	Ψ133.00
8	2	Oxygen Bleach - 1 can	576	Cans	\$1.05	\$604.80	\$0.96	\$552.96	\$0.95	\$547.20	\$0.98	\$564.48	\$0.98	\$564.48
	2	Bathroom/Shower Cleaner - Non	42	Overte	Ć1 00	ć22.56	62.75	Ć45.00	Ć1 F2	¢10.24	ć1 7C	ć24.42	Ć4 25	Ć1F 00
9	_	Acid, Deodorizes - 1 quart Foaming Shower Cleaner - 1	12	Quarts	\$1.88	\$22.56	\$3.75	\$45.00	\$1.52	\$18.24	\$1.76	\$21.12	\$1.25	\$15.00
10	4	Quart	100	Quarts	\$5.28	\$528.00	\$3.92	\$392.00	\$2.11	\$211.00	\$2.47	\$247.00	\$2.76	\$276.00
		"Simple Green" Cleaner / Degreaser -												
11	5	1 Gallon	12	Gallons	\$12.84	\$154.08	\$11.25	\$135.00	\$6.06	\$72.72	\$5.87	\$70.44	\$6.33	\$75.96
12		Glass & Surface Cleaner - Liquid - Ready to Use - 1 Gallon	206	Gallons	\$3.34	\$688.04	\$3.91	\$805.46	\$3.47	\$714.82	\$3.35	\$690.10	\$3.32	\$683.92
12		Dishwashing Soap - Hand, Liquid - 1	200	Cullotis	Ų3.3 T	γουο.σ-1	Ų3.51	Ç003.10	Ų3.17	ψ/14.02	Ų3.33	φ030.10	Ų3.3 <u>2</u>	Ç003.3 <u>2</u>
13	7	Gallon	40	Gallons	\$3.33	\$133.20	\$5.68	\$227.20	\$5.02	\$200.80	\$4.84	\$193.60	\$4.95	\$198.00
14	8	Germicidal Cleaner / Disinfectant for Walls & Floors - 1 Gallon	134	Gallons	\$7.04	\$943.36	\$15.46	\$2,071.64	\$6.90	\$924.60	\$6.66	\$892.44	\$7.65	\$1,025.10
17	8	Walls & Floors T Gallon	134	Gallotis	\$7.04	<del>\$545.50</del>	\$15.40	Ş2,071.0 <del>4</del>	\$0.50	\$324.00	\$0.00	3032.44	\$7.03	\$1,023.10
		Foaming Cleaner and Disinfectant /												
15	9	Deodorizer, Aerosol - 1 Can	172	Cans	\$3.67	\$631.24	\$3.38	\$581.36	\$1.95	\$334.83	\$3.36	\$577.92	\$4.32	\$743.04
		Cleaner / Disinfectant, Controls: Staph, Strep, Herpes, HIV, Aerosol												
16	10	(Lysol) - 1 Can	216	Cans	\$3.40	\$734.40	\$5.80	\$1,252.80	\$2.00	\$432.00	\$3.25	\$702.00	\$3.41	\$736.56
		Cleaner / Disinfectant, Non-foaming,			75.15	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , ,	, -,·-·	7-33	,	75.25	7.02.00	70	,,,,,,,,
17	11	Aerosol - 1 Can	28	Cans	\$2.77	\$77.56	\$6.40	\$179.20	\$2.00	\$56.00	\$3.25	\$91.00	\$3.41	\$95.48
		Cleaner Disinfectant, Deodorizer,												
18	12	Pine Scent, Liquid (like Pinesol) - 1 Gallon	4	Gallons	\$7.10	\$28.40	\$19.44	\$77.76	\$6.75	\$27.00	\$6.52	\$26.08	\$7.04	\$28.16
10	12	Urinal Screen w/ Deodorant Block -	4	Gallotis	\$7.10	Ç20.40	\$15.44	<i>Ş11.10</i>	Ç0.75	Ş27.00	Ţ0.5 <u>2</u>	Ş20.00	\$7.04	ÿ20.10
19	13	1 Dozen	10	Dozen	\$6.00	\$60.00	\$15.47	\$154.70	\$12.58	\$125.80	\$13.50	\$135.00	\$13.62	\$136.20
20		Hand Soap, Antiseptic, Liquid, for	22	G . II	40.00	<b>A</b> 225.25	1 40.05	420= 4	4	4400.0	4	å. o. o. = -	A	<b>4205 0</b> :
20		Dispenser - 1 Gallon Hand Soap for Dispensers, Liquid - 1	38	Gallons	\$6.22	\$236.36	\$8.03	\$305.14	\$5.08	\$193.04	\$4.91	\$186.58	\$5.43	\$206.34
21	15	Gallon	408	Gallons	\$2.89	\$1,179.12	\$5.33	\$2,174.64	\$3.24	\$1,321.92	\$3.13	\$1,277.04	\$3.75	\$1,530.00
		Bleach, Germicidal, 5.25% Sodium				. ,				. ,		. ,		. ,
		HyporChlorite, Liquid (Clorox) - 1		<b>.</b> "	4	4	1	40-1-	1	A= 63 : 30	4	A4 02	1	A
22	16	Gallon Laundry Detergent, Powder, 25 lb	576	Gallons	\$1.38	\$794.88	\$1.71	\$984.96	\$10.28	\$5,921.28	\$1.90	\$1,094.40	\$1.72	\$990.72
23		box/bag/pail	40	Boxes	\$12.95	\$518.00	\$17.25	\$690.00	\$13.70	\$548.00	\$13.26	\$530.40	\$13.60	\$544.00
		Floor & Surface Cleaner, Liquid - 1	-		,:-	,	,=::=5	, 3	, , , ,	, , , , , , ,	7-2:30	, , , , , ,	7 20.30	,
24	18	Gallon	182	Gallons	\$3.59	\$653.38	\$8.81	\$1,603.42	\$5.03	\$915.46	\$4.25	\$773.50	\$4.68	\$851.76
25	10	Floor Polish, Wax, Hi Gloss, Non Slip,	10	Daile	ćE2 40	¢E24.00	602.22	6022.20	Ć40.64	¢406.40	Ć4C F0	¢46F 00	Ć40.00	¢400.00
25		16% Solids - 5 Gallon pail Ice & Snow Melt, Chemical 1 Bag /	10	Pails	\$52.10	\$521.00	\$83.22	\$832.20	\$49.61	\$496.10	\$46.50	\$465.00	\$40.80	\$408.00
26		Pail	18	Bags/ Pails	\$16.31	\$293.58	\$10.75	\$193.50	\$11.25	\$202.50	\$9.00	\$162.00	\$10.59	\$190.62
		Air Freshener Deodorizer - Aerosol -		-										
27	21	1 can	260	Cans	\$2.99	\$777.40	\$5.40	\$1,404.00	\$3.40	\$884.00	\$3.50	\$910.00	\$3.05	\$793.00
28 29		Sub totals Prompt Payment Discount			0%	\$9,743.16 \$0.00	2%	\$14,800.94 (\$296.02)	0%	\$14,214.51 \$0.00	2%	\$9,760.10 (\$195.20)	0%	\$10,245.34 \$0.00
30		Local Vendor Preference (5%)			0%	\$0.00	0%	\$0.00	0%	\$0.00	2% 5%	(\$195.20)	0%	\$0.00
30 31	<u></u>	Category Total				\$9,743.16		\$14,504.92		\$14,214.51		\$9,076.89		\$10,245.34
31					<u> </u>	γ <i>5</i> ,, τ3.10	1	γ±1,304.32	1	Y11,217.J1	1	Ç5,070.03	1	710,273.34

Cell: AD7

Comment: Eric Van Leeuwen:

Bid Item #1; Bidder quoted \$4.46 w/33.8 oz bottle or .14 per oz. Using 8 oz container, per bottle price is \$1.12. Other bidders used 7.5-8 oz bottles.

Cell: AD15

Comment: Eric Van Leeuwen:

Bid Item #9, Bidder (I) quoted \$1.46/18 oz can, or .0811 per oz. Using 24 oz container, per bottle price is \$1.9467. All other bidders used 24 oz bottle

Cell: AG15

Comment: Eric Van Leeuwen:

Bid Item #9 - Bidder (J) quoted \$2.75/20 oz can, or .14 per oz. Using 24 oz container, per can price is \$3.36. All other biodders used 24 oz bottle.

Cell: AJ15

Comment: Eric Van Leeuwen:

Bid Item #9 - Bidder (K) quoted \$3.25/ 19 oz bottle, or .18 per oz. Using a 24 oz container, per can price is \$4.32. All other bidders used 24 oz bottle.

Cell: U16

Comment: Eric Van Leeuwen:

Bid Item #10 - Bidder (F) quoted \$5.36/ 32 oz can, or .17 per oz. Using 20 oz container, per can price is \$3.40. Other bidders used 20 oz containers.

Cell: AA16

Comment: Eric Van Leeuwen:

Bid Item #10 - Bidder (H) quoted \$6.86/24 oz bottle, or .29 per oz. Using 20 oz container, per can price is \$5.80. Other bidders use 20 oz containers.

Cell: AD16

Comment: Eric Van Leeuwen:

Bid Item #10 - Bidder (I) quoted \$1.55/15.5 oz can, or .10 per oz. Using 20 oz container, per can price is \$2.00. Other bidders used 20 oz containers.

Cell: AG16

Comment: Eric Van Leeuwen:

Bid Item #10 - Bidder quoted 20 oz container,

Cell: AJ16

Comment: Eric Van Leeuwen:

Bid Item #10 - Bidder quote 20 oz container

Cell: AA17

Comment: Eric Van Leeuwen:

Bid Item #11 - Bidder (H) quoted \$5.95/19 oz can, or .32 per oz. Using 20 oz container, per can price is \$6.40. Other bidders used 20 oz containers.

Cell: AD17

Comment: Eric Van Leeuwen:

Bid Item #11 - Bidder (I) quoted \$1.55/15.5 oz can, or .32 per oz. Using 20 oz container, per can price is \$2.00. Other bidders used 20 oz containers.

Cell: AA23

Comment: Eric Van Leeuwen:

Bid Item #17 - Bidder (H) quoted \$27.40/ 40 lb. pail, or .69 per lb. Using 25 lb container, per box price is \$17.25. Other bidders used 25 lb box containers.

Cell: AA27

Comment: Eric Van Leeuwen:

Bid Item #21 - Bidder (H) quoted \$1.86/ 07 oz can, or .27 per oz. Using 20 oz container, per can price is \$5.40. Other bidders used 20 oz containers.

Cell: AG27

Comment: Eric Van Leeuwen:

Cell: AJ27

Comment: Eric Van Leeuwen:

Bid Item #21, bidder quoted \$3.05/10 oz can, or .31 per oz. Using 20 oz container, per can price is \$6.20. Other bidders used 20 oz containers.

	Α	В	С	D E	U	V	M AA	AB A	AC AD	AE A	AF AG	AH	A <b>I</b> AJ	AK
1	Bid # 15-48	35-026 Janitorial Supplies		•	•	•	•	•	•		•	•		
2														
3	* Evaluatio	n is Exclusive of Sales Tax												
4					(F) Royal F	aper Corp.	(H) Sierra C	Office Supply	(I) JC	Paper	(J) West Coast Janitorial		(K) Sac Val Janitorial Supply	
5	Category	y II - Janitorial Utensils			Santa Fe S			Sacramento, CA		ont, CA	Placerville, CA		West Sacramento, CA	
	Did Itam #	Barrier Control	Estimated	Unit of Measure	Linit Drice	Extended Price	Unit Price	Extended Price	Limit Drice	Extended Price	Limit Drice	Extended Price	Unit Price	Extended Drice
6	Bia item #	Description	Quantity	Unit of Measure	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
_	22	Plastic Spray bottle, 24/400 neck	422	Daulas	60.55	ć72.co	60.54	674.20	60.61	600.53	N - P'-l	(0./41.151	60.50	¢66.00
/	22	Finish, 32 oz - 1 bottle	132	Bottles	\$0.55	\$72.60	\$0.54	\$71.28	\$0.61	\$80.52	No Bid	#VALUE!	\$0.50	\$66.00
		Trigger for Plastic Spray Bottle,												
8	23	28/400 Closurel, 9" Dip Tube Filter - 1 Trigger	168	Triggors	\$0.43	\$72.24	\$0.54	\$90.72	\$0.58	\$97.44	No Bid	#VALUE!	\$0.38	\$63.84
0	23	Deck Brush, Multi surface Plastic,	100	Triggers	Ş0.45	\$72.24	\$0.54	\$90.72	\$0.56	\$97.44	INO BIU	#VALUE!	ŞU.36	Ş05.64
		10" Width, Be-Level Twin Deck - 1												
9	24	Each	12	Each	\$7.37	\$88.44	\$5.12	\$61.44	\$3.38	\$40.56	No Bid	#VALUE!	\$8.86	\$106.32
		Brush, Toilet Bowl, Plastic Bristles, 4	12	Lucii	ψ <i>γ</i> .3 <i>γ</i>	Ç00.11	75.12	φο1.11	75.50	ŷ 10.50	I Wo Bid	WYNEGE.	\$0.00	Ģ100.32
		1/2" head, 21" overall length - 1												
10	25	Each	48	Each	\$1.20	\$57.60	\$3.14	\$150.72	\$2.15	\$103.20	No Bid	#VALUE!	\$1.75	\$84.00
		Feather Duster, Small, 12-14" Wood												·
11	26	Handle, - 1 Each	5	Each	\$4.86	\$24.30	\$4.76	\$23.80	\$9.38	\$46.90	No Bid	#VALUE!	\$5.95	\$29.75
		Feather duster, Large, 30-36", Wood												
12	27	Handle - 1 Each	5	Each	\$7.86	\$39.30	\$9.90	\$49.50	\$7.33	\$36.65	No Bid	#VALUE!	\$11.99	\$59.95
		Mop, Toilet Bowl, Acid Resistant,												
13	28	Long handle - 1 Each	10	Each	\$0.60	\$6.00	\$0.76	\$7.60	\$0.74	\$7.40	No Bid	#VALUE!	\$0.71	\$7.10
		Stainless Steel Scubber, Round Ball												
14	29	(Scotch Brite) - 1 Dozen	61	Dozen	\$0.36	\$21.96	\$12.08	\$736.88	\$12.08	\$736.88	No Bid	#VALUE!	\$12.42	\$757.62
4-		Scrubbing Sponge, Light Duty, 1 side			40.00	62.460.00	622.20	\$0.0C4.00	<b>\$20.00</b>	ά <b>7.</b> Εςο οο		10.441.151	627.C0	ά <b>7.452.</b> 00
15		Sponge, 1 side Scrub Backing - 1 Box	270	Boxes	\$8.00	\$2,160.00	\$33.20	\$8,964.00	\$28.00	\$7,560.00	No Bid	#VALUE!	\$27.60	\$7,452.00
16		Scouring Pad, Heavy Duty, 6x9 (3M) - 1 Box	61	Poves	\$18.00	\$1,098.00	\$22.20	\$1,354.20	\$15.93	\$971.73	No Bid	#VALUE!	\$19.35	\$1,180.35
10	21	Steel Wool Soap Pads - Heavy Duty	01	Boxes	\$10.00	\$1,096.00	\$22.20	\$1,554.20	\$15.93	, 39/1./3	INO BIU	#VALUE!	\$13.35	\$1,100.33
17	32	Cleaning - 1 Box	56	Boxes	\$3.00	\$168.00	\$3.26	\$182.56	\$6.60	\$369.60	No Bid	#VALUE!	\$3.00	\$168.00
1/	32	Dust Pan, Plastic, 12" Width, Heavy	30	DONES	75.00	7100.00	75.20	7102.30	Ş0.00	7303.00	I TO DIG	#VALUE:	\$5.00	7100.00
18	33	Duty - 1 Each	30	Each	\$5.10	\$153.00	\$2.09	\$62.70	\$2.38	\$71.40	No Bid	#VALUE!	\$1.60	\$48.00
		, , , , , ,			φ5.20	, 255.55	1						72.30	φ .σ.σσ
		Plunger, Toilet, Industrial, Wood												
19	34	Handle, 20" Length - 1 Each	6	Each	\$4.34	\$26.04	\$5.95	\$35.70	\$5.48	\$32.88	No Bid	#VALUE!	\$3.00	\$18.00
20		SuB Totals		-		\$3,987.48		\$11,791.10		\$10,155.16		No Bid		\$10,040.93
21	Prompt Payment Discount				0%	\$0.00	2%	(\$235.82)	0%	\$0.00	0%	#VALUE!	0%	\$0.00
22 23	Local Vendor Preference (5%)				0%		0%	\$0.00	0%	\$0.00	0%	#VALUE!	0%	\$0.00
23		Category Total				\$3,987.48		\$11,555.28		\$10,155.16		No Bid		\$10,040.93

Cell: U15

**Comment:** Eric Van Leeuwen:

Bid Item #30 - Bidder (F) quoted \$1.93 / box of 5, or .39 each. Using 40 each/ container, per box price is \$8.00. Other bidders used 40 oz containers.

Cell: AA15

Comment: Eric Van Leeuwen:

Bid Item #30 - Bidder (H) guoted \$16.6 / box of 20, or .83 each. Using 40 each container, per box price is \$33.20. Other bidders used 40 each containers.

Cell: AD15

Comment: Eric Van Leeuwen:

Bid Item #30, Bidder (I) quoted \$3.50 / 5 pack, or .70 each. Using 40 each container, per box price is \$28.00. Other bidders used 40 each containers.

Cell: U16

**Comment:** Eric Van Leeuwen:

Bid Item #31 - Bidder (F) quoted \$2.99 / box of 10, or .30 each. Using 60 each container, per box price is \$18.00. Other bidders used 60 pads per container.

Cell: U17

Comment: Eric Van Leeuwen:

Bid Item #32 - Bidder (F) quoted \$2.39 / box of 12, or .20 each. Using 15 pads per container, per box price is \$3.00. Other bidders used 15 pads per container.

Cell: AD17

**Comment:** Eric Van Leeuwen:

Bid Item #32 - Bidder (I) quoted \$4.38 / box of 10 pads, or .44 each. Using 15 each container, per box price is \$6.60. Other bidders used 15 pads per container.

	Α	В	С	D I	E U	V	M AA	AB /	A( AD	AE A	AF AG	AH	AI AJ	AK	
1	Bid # 15-48	35-026 Janitorial Supplies													
2															
3	* Evaluation	on is Exclusive of Sales Tax													
4					(F) Royal I	Paper Corp.	(H) Sierra C	Office Supply	(1) 10	Paper	(J) West Co	ast Janitorial	(K) Sac Val Jai	nitorial Supply	
5	Category	y III - Janitorial Floor Care Prod	ducts		1 ' '							ville, CA		West Sacramento, CA	
		ĺ	Estimated			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,									
6	Bid Item #	Description	Quantity	Unit of Measure	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	<b>Extended Price</b>	Unit Price	<b>Extended Price</b>	Unit Price	Extended Price	
		Floor Machine Stripper Pad, Black,													
7		20" (Like 3M 7200N) - 1 Case	5	Case	\$15.27	\$76.35	\$16.87	\$84.35	\$12.72	\$63.60	No Bid	#VALUE!	\$14.50	\$72.50	
		, ,													
		Floor Machine Polishing Pad, White,													
8	36	20" (like 3M 4100N) - 1 Case	4	Case	\$15.26	\$61.04	\$16.87	\$67.48	\$12.72	\$50.88	No Bid	#VALUE!	\$14.50	\$58.00	
	1	Broom, Janitor "Natural Corn Fiber"													
9	37	42" Length - 1 Each	26	Each	\$1.85	\$48.10	\$9.80	\$254.80	\$6.17	\$160.42	No Bid	#VALUE!	\$5.88	\$152.88	
	1														
		Broom, Yellow Metal Cap, Upright,													
10	38	56" Length, Plastic/Nylon - 1 Each	38	Each	\$8.11	\$308.18	\$6.27	\$238.26	\$14.98	\$569.24	No Bid	#VALUE!	\$4.58	\$174.04	
	1	Mop bucket with Ringer /													
		Downpress, Combo Pack, 35 quart													
11	39	for 16-24 oz mop - 1 Set	4	Each	\$43.56	\$174.24	\$152.14	\$608.56	\$61.00	\$244.00	No Bid	#VALUE!	\$69.80	\$279.20	
	1														
		Mop Head, Wet, Medium, 4 Ply													
		Cotton/Rayon/Polyester Blend, 5"													
12	40	Headband, Twisted Loop - 1 Each	158	Each	\$2.04	\$322.32	\$6.26	\$989.08	\$2.92	\$461.36	No Bid	#VALUE!	\$4.06	\$641.48	
		Mop Head, Wet, Large, 4 Ply													
		Cotton/Rayon/Polyester Blend, 5"													
13	4	Headband, Twisted Loop - 1 Each	86	Each	\$2.28	\$196.08	\$9.01	\$774.86	\$3.59	\$308.74	No Bid	#VALUE!	\$5.09	\$437.74	
		Mop Handle, Wet Mop, 60" Length													
14		with Wingnut - 1 Handle	14	Each	\$5.43	\$76.02	\$6.62	\$92.68	\$5.10	\$71.40	No Bid	#VALUE!	\$6.52	\$91.28	
		Floor Stripper, Non-Butyl, Low Oder,													
		Medium duty, rinse free - 5 Gallon								<b> </b>					
15	_	Pail	5	Pails	\$73.80	\$369.00	\$65.06	\$325.30	\$39.48	\$197.40	No Bid	#VALUE!	\$43.53	\$217.65	
		Floor Stripper, No Ammoniates, Light													
16	44	Duty, Rinse - 1 Gallon	4	Gallons	\$5.00		\$14.75	\$59.00	\$6.95		No Bid	#VALUE!	\$9.75	\$39.00	
17	Sub-Totals				\$1,651.33		\$3,494.37		\$2,154.84		No Bid		\$2,163.77		
18		Prompt Payment Discount			0%	\$0.00	2%	(\$69.89)	0%	\$0.00	0%	#VALUE!	0%	\$0.00	
19		Local Vendor Preference (5%)			0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	#VALUE!	0%	\$0.00	
20		Category Total				\$1,651.33		\$3,424.48		\$2,154.84		No Bid		\$2,163.77	

Santa Fe Springs, CA   Sacramento, CA   Fremont, CA   Placerville, CA	(K) Sac Val Janitorial Supply West Sacramento, CA  Unit Price Extended Price  \$51.44 \$51.44  \$32.22 \$8,055.00  \$12.50 \$1,650.00  \$27.76 \$27,482.40  \$14.66 \$1,583.28  \$16.62 \$415.50
3	West Sacramento, CA           Unit Price         Extended Price           \$51.44         \$51.44           \$32.22         \$8,055.00           \$12.50         \$1,650.00           \$27.76         \$27,482.40           \$14.66         \$1,583.28
Category IV - Janitorial Paper Products   Category IV - Janitorial Pap	West Sacramento, CA           Unit Price         Extended Price           \$51.44         \$51.44           \$32.22         \$8,055.00           \$12.50         \$1,650.00           \$27.76         \$27,482.40           \$14.66         \$1,583.28
Sactage   Category   V - Janitorial Paper Products   Santa Fe Springs, CA   Sacramento, CA   Fremont, CA   Placerville, CA	West Sacramento, CA           Unit Price         Extended Price           \$51.44         \$51.44           \$32.22         \$8,055.00           \$12.50         \$1,650.00           \$27.76         \$27,482.40           \$14.66         \$1,583.28
Stimated   Unit Price   Extended Price   Extended Price   Unit P	Unit Price         Extended Price           \$51.44         \$51.44           \$32.22         \$8,055.00           \$12.50         \$1,650.00           \$27.76         \$27,482.40           \$14.66         \$1,583.28
Fig.   Bid Item #   Description   Quantity   Unit of Measure   Unit Price   Extended Price   Extended Price   Unit Price   Extended Price   Unit Price   E	\$51.44 \$51.44 \$32.22 \$8,055.00 \$12.50 \$1,650.00 \$27.76 \$27,482.40 \$14.66 \$1,583.28
Tampon / Tampax, Gentle Glide for	\$51.44 \$51.44 \$32.22 \$8,055.00 \$12.50 \$1,650.00 \$27.76 \$27,482.40 \$14.66 \$1,583.28
7	\$32.22 \$8,055.00 \$12.50 \$1,650.00 \$27.76 \$27,482.40 \$14.66 \$1,583.28
Sanitary Napkins, Maxi-Pad #8 - 1 8	\$32.22 \$8,055.00 \$12.50 \$1,650.00 \$27.76 \$27,482.40 \$14.66 \$1,583.28
8         46         Case Facial Tissue, Flat Box, White, 100         250         Cases         \$32.45         \$8,112.50         \$72.50         \$18,125.00         \$41.07         \$10,267.50         \$30.98         \$7,745.00           9         47         Sheets Per Box - 1 Case Toilet Tissue, 2 Ply, 500 Sheets Per         132         Cases         \$14.10         \$1,861.20         \$17.60         \$2,323.20         \$11.38         \$1,502.16         \$13.45         \$1,775.40           10         48         Roll - 1 Case Paper Towel, Single Fold, Natural         990         Cases         \$30.14         \$29,838.60         \$18.48         \$18,295.20         \$27.22         \$26,947.80         \$26.50         \$26,235.00           11         49         Brown - 1 Case Paper Towel, Roll, Natural         108         Cases         \$14.98         \$1,617.84         \$24.33         \$2,627.64         \$13.64         \$1,473.12         \$14.25         \$1,539.00           12         50         7/8" wide - 1 Case         25         Cases         \$12.35         \$308.63         \$22.71         \$567.75         \$15.83         \$395.75         \$16.70         \$417.50           13         51         Case         \$15.14         \$22,710.00         \$19.90         \$29,850.00         \$13.61         \$20,415	\$12.50 \$1,650.00 \$27.76 \$27,482.40 \$14.66 \$1,583.28
Facial Tissue, Flat Box, White, 100  Facial Tissue, Flat Box, White, 100  Facial Tissue, Flat Box, White, 100  Facial Tissue, 2 Ply, 500 Sheets Per  10 48 Roll - 1 Case Paper Towel, Single Fold, Natural  Hand Form - 1 Case Paper Towel Roll, Natural Brown, 7  7/8" wide - 1 Case Paper Towel, Multi-Fold, Bleached - 1  Case Signary Towel, Handi / C-Fold, Paper Towel, Handi / C-Fold, Paper Towel, Kitchen Style, Paper Towel, Kitchen Style, Paper Towel, Kitchen Style, Paper Towel, Roll - 1 Case Paper Towel, Kitchen Style, Paper Towel, Roll - 1 Case Paper Towel, Roll - 1 Case Paper Towel, Kitchen Style, Paper Towel, Kitchen Style, Paper Towel, Kitchen Style, Paper Towel, Roll - 1 Case Paper Towel, Roll - 1 Case Paper Towel, Kitchen Style, Paper Towel, Roll - 1 Case Paper Towel, Roll - 1 Case Paper Towel, Kitchen Style, Paper Towel, Roll - 1 Case Paper Towel, Kitchen Style, Paper Towel, Roll - 1 Case Paper T	\$12.50 \$1,650.00 \$27.76 \$27,482.40 \$14.66 \$1,583.28
9 47 Sheets Per Box - 1 Case Toilet Tissue, 2 Ply, 500 Sheets Per Rox - 1 Case Toilet Tissue, 2 Ply, 500 Sheets Per Rox - 1 Case Paper Towel, Single Fold, Natural Rown, 7 Paper Towel, Single Fold, Natural Rown, 7 Paper Towel, Multi-Fold, Bleached - 1 Case Paper Towel, Multi-Fold, Bleached - 1 See Paper Towel, Handi / C-Fold, Paper Towel, Kitchen Style, Toilet Tissue, 2 Ply, 500 Sheets Per Rox - 1 Case Paper Towel, Single Fold, Natural Rown, 7 Paper Towel, Mithen Style, Toilet Seat Cover, Paper, Single St.	\$27.76 \$27,482.40 \$14.66 \$1,583.28
Toilet Tissue, 2 Ply, 500 Sheets Per 10	\$27.76 \$27,482.40 \$14.66 \$1,583.28
Paper Towel, Single Fold, Natural Brown - 1 Case Paper Towel, Single Fold, Natural Brown, 7 Paper Towel Roll, Natural Brown, 7 Paper Towel, Multi-Fold, Bleached - 1 Case Paper Towel, Multi-Fold, Bleached - 1 See Paper Towel, Handi / C-Fold, Paper Towel, Handi / C-Fold, Paper Towel, Kitchen Style, Toilet Seat Cover, Paper, Single Fold, Natural Brown, 7 See Paper Towel, Kitchen Style, Toilet Seat Cover, Paper, Single Fold, Natural Brown, 7 See See See See See See See See See S	\$14.66 \$1,583.28
11   49   Brown - 1 Case   108   Cases   \$14.98   \$1,617.84   \$24.33   \$2,627.64   \$13.64   \$1,473.12   \$14.25   \$1,539.00     12   50   7/8" wide - 1 Case   25   Cases   \$12.35   \$308.63   \$22.71   \$567.75   \$15.83   \$395.75   \$16.70   \$417.50     13   51   Case   1500   Cases   \$15.14   \$22,710.00   \$19.90   \$29,850.00   \$13.61   \$20,415.00   \$13.80   \$20,700.00     14   52   Bleached - 1 Case   174   Cases   \$26.81   \$4,664.94   \$18.94   \$3,295.56   \$12.50   \$2,175.00   \$14.40   \$2,505.60     15   53   Perforated Roll - 1 Case   78   Cases   \$19.38   \$1,511.64   \$17.31   \$1,350.18   \$20.28   \$1,581.84   \$21.10   \$1,645.80     16   54   Sheet, 1/2 fold - 1 Case   156   Cases   \$24.44   \$3,812.64   \$33.45   \$5,218.20   \$20.83   \$3,249.48   \$21.00   \$3,276.00     17   \$14.25   \$1,539.00   \$14.25   \$1,539.00     18   \$1,647.84   \$24.33   \$2,627.64   \$13.64   \$13.64   \$1,473.12   \$	
Paper Towel Roll, Natural Brown, 7 7/8" wide - 1 Case Paper Towel, Multi-Fold, Bleached - 1 So 7/8" wide - 1 Case Paper Towel, Multi-Fold, Bleached - 1 So Paper Towel, Multi-Fold, Bleached - 1 So Paper Towel, Handi / C-Fold, Paper Towel, Handi / C-Fold, Paper Towel, Handi / C-Fold, Paper Towel, Kitchen Style,	
12   50   7/8" wide - 1 Case   25   Cases   \$12.35   \$308.63   \$22.71   \$567.75   \$15.83   \$395.75   \$16.70   \$417.50   \$13   \$51   Case   \$15.00   Cases   \$15.14   \$22,710.00   \$19.90   \$29,850.00   \$13.61   \$20,415.00   \$13.80   \$20,700.00   \$14.40   \$20,700.00   \$15.52   \$15.54   \$15.54   \$15.55   \$15.55   \$15.65   \$12.55   \$15.65   \$12.55   \$15.65   \$12.55   \$15.65   \$12.55   \$15.65   \$12.55   \$15.65   \$12.55   \$15.6	\$16.62
Paper Towel, Multi-Fold, Bleached - 1 Case Paper Towel, Handi / C-Fold, Paper Towel, Handi / C-Fold, Paper Towel, Kitchen Style, Paper Towel, Kitchen Style, Toilet Seat Cover, Paper, Single Sheet, 1/2 fold - 1 Case Paper Towel, Multi-Fold, Bleached - 1 State of the	\$16.62   \$11E.E0
13   51   Case   1500   Cases   \$15.14   \$22,710.00   \$19.90   \$29,850.00   \$13.61   \$20,415.00   \$13.80   \$20,700.00     14   52   Bleached - 1 Case   174   Cases   \$26.81   \$4,664.94   \$18.94   \$3,295.56   \$12.50   \$2,175.00   \$14.40   \$2,505.60     15   53   Perforated Roll - 1 Case   78   Cases   \$19.38   \$1,511.64   \$17.31   \$1,350.18   \$20.28   \$1,581.84   \$21.10   \$1,645.80     16   54   Sheet, 1/2 fold - 1 Case   156   Cases   \$24.44   \$3,812.64   \$33.45   \$5,218.20   \$20.83   \$3,249.48   \$21.00   \$3,276.00     17   18   18   18   18   18   18   18	\$10.02 \$415.50
Paper Towel, Handi / C-Fold,   14   52   Bleached - 1 Case   174   Cases   \$26.81   \$4,664.94   \$18.94   \$3,295.56   \$12.50   \$2,175.00   \$14.40   \$2,505.60   \$15   53   Perforated Roll - 1 Case   78   Cases   \$19.38   \$1,511.64   \$17.31   \$1,350.18   \$20.28   \$1,581.84   \$21.10   \$1,645.80   \$16   54   Sheet, 1/2 fold - 1 Case   156   Cases   \$24.44   \$3,812.64   \$3,812.64   \$33.45   \$5,218.20   \$20.83   \$3,249.48   \$21.00   \$3,276.00   \$14.40   \$2,505.60   \$15	ć12 F2
14       52       Bleached - 1 Case       174       Cases       \$26.81       \$4,664.94       \$18.94       \$3,295.56       \$12.50       \$2,175.00       \$14.40       \$2,505.60       \$2,505.60       \$15       \$1	\$13.53 \$20,295.00
Paper Towel, Kitchen Style,   15   53   Perforated Roll - 1 Case   78   Cases   \$19.38   \$1,511.64   \$17.31   \$1,350.18   \$20.28   \$1,581.84   \$21.10   \$1,645.80   \$16   54   Sheet, 1/2 fold - 1 Case   156   Cases   \$24.44   \$3,812.64   \$33.45   \$5,218.20   \$20.83   \$3,249.48   \$21.00   \$3,276.00	\$14.50 \$2,523.00
15       53       Perforated Roll - 1 Case       78       Cases       \$19.38       \$1,511.64       \$17.31       \$1,350.18       \$20.28       \$1,581.84       \$21.10       \$1,645.80         16       54       Sheet, 1/2 fold - 1 Case       156       Cases       \$24.44       \$3,812.64       \$33.45       \$5,218.20       \$20.83       \$3,249.48       \$21.00       \$3,276.00	γ14.30
Toilet Seat Cover, Paper, Single 16 54 Sheet, 1/2 fold - 1 Case 156 Cases \$24.44 \$3,812.64 \$3,812.64 \$3,812.64 \$3,812.64	\$16.90 \$1,318.20
	\$20.50 \$3,198.00
Skin Cleaners / Hand Wipes, (Like	
17 55 Scrubs In-A-Bucket) - 1 Can 58 Cans \$2.60 \$150.80 \$8.65 \$501.56 \$10.86 \$629.88 \$7.00 \$406.00	\$7.82 \$453.56
Instant Hand Sanitizer (GOJO Purell),	¢3.40 ¢036.00
18   56   Pump Bottle - 1 Bottle   260   Bottles   \$3.74   \$972.40   \$3.39   \$881.40   \$2.56   \$665.60   \$3.06   \$795.60	\$3.18 \$826.80
19 57 Canister 60 Canister \$10.37 \$622.20 \$13.24 \$794.40 \$7.80 \$468.00 \$16.88 \$1,012.50	\$12.01 \$720.60
Lysol Disinfecting Wipes, 7" x 8"	\$12.01
20 58 White, 80 Wipes /canister 60 Canister \$5.29 \$317.40 \$5.49 \$329.40 \$5.19 \$311.40 \$7.46 \$447.84	\$4.69 \$281.40
21 Sub-Totals \$76,566.95 \$84,213.65 \$69,839.37 \$68,101.90	\$68,572.78
22 Prompt Payment Discount 0% \$0.00 2% (\$1,684.27) 0% \$0.00 2% (\$1,362.04)	
22         Prompt Payment Discount         0%         \$0.00         2%         (\$1,684.27)         0%         \$0.00         2%         (\$1,362.04)         2%         (\$1,362.04)         5%         (\$3,405.10)         5%         (\$3,405.10)         5%         (\$3,405.10)         5%         (\$3,334.77)         5%	0% \$0.00
24         Category Total         \$76,566.95         \$82,529.37         \$69,839.37         \$63,334.77	0% \$0.00 0% \$0.00 \$68,572.78

Cell: AA8

Comment: Eric Van Leeuwen:

Bid Item #46 - Bidder (H) guoted \$28.89/ case of 100, or .29 each. Using 250 in each case, per case price is \$72.50. Other bidders guoted 250 pads per case.

Cell: U9

Comment: Eric Van Leeuwen:

Bid Item #47 - Bidder (F) quoted \$33.65 / case of 72, or .47 each. Using 30 boxes per case, per case price is \$14.10. Other bidders used 30 boxes per case.

Cell: AA10

Comment: Eric Van Leeuwen:

Bid Item #48 - Bidder (H) quoted \$36.96 / case of 1,000 sheets/ roll, or .0369 per sheet. Using 500 sheets/ roll w/ 96 rolls per case, per case price is \$18.48. Other bidders used 500 rolls per case.

Cell: AJ11

Comment: Eric Van Leeuwen:

Bid Item #49 - Bidder (K) quoted \$14.69 / case of 12 packs (w/ 334 sheets per pack, or 4008 sheets/ case), or \$14.66 / case. Other bidders used 16 case packs with 250 sheets per pack or 4000 sheets)

Cell: U12

Comment: Eric Van Leeuwen:

Bid Item #50 - Bidder (F) quoted \$24.69/ case of 12 rolls, or 2.0575 per roll. Using 6 rolls per case, per case price is \$12.345 per case. Other bidders used 6 rolls per case.

Cell: AJ13

Comment: Eric Van Leeuwen:

Bid Item #51 - Bidder (K) quoted \$13.55 / case of 12 packs (w/ 334 sheets per pack, or 4008 sheets), or \$13.53 / case. Other bidders used 16 case packs with 250 sheets per pack or 4000 sheets)

Cell: AJ14

Comment: Eric Van Leeuwen:

Bid Item #52 - Bidder (K) quoted \$14.50 / case of 16 packs w/ 150 sheets per pack, or 2400 sheets), Other bidders used 12 packs per case with 200 sheets per pack or 2400 sheets)

Cell: AJ15

Comment: Eric Van Leeuwen:

Bid Item #53 - Bidder (K) guoted \$19.89 / case of 30 rolls w/ 100 sheets per roll, (or 3000 sheets), or \$16.90 / case. Other bidders used 30 rolls / case (w/ 85 sheets per pack or 2550 sheets)

Cell: U17

Comment: Eric Van Leeuwen:

Bid Item #55 -Bidder (F) guoted \$9.34 / can with 270 wipes/ can and w/ 6 cans per case, or 1620 wipes), or \$2.60 / can of 75 wipes. Other bidders used 75 wipes per can)

Cell: AA17

Comment: Eric Van Leeuwen:

Bid Item #55 - Bidder (H) quoted \$10.38/ can of 90 wipes and 6 cans per case, (or 540 wipes/ case), or \$8.6475 / can of 75 wipes. Other bidders used 75 wipes per can)

Cell: AD17

Comment: Eric Van Leeuwen:

Bid Item #55 - Bidder (I) quoted \$10.43/ can of 72 wipes and 6 cans per case, (or 432 wipes/ case), or \$10.86 / can of 75 wipes. Other bidders used 75 wipes per can)

Cell: AD18

Comment: Eric Van Leeuwen:

Bid Item #56 - Bidder quoted \$10.43 / bottle (w/ 12 oz/ bottle), or \$.3208/ oz. \$2.56/ 8 oz. bottle. Other bidders used 8 oz bottle w/ 12 bottles per case.

Cell: U19

Comment: Eric Van Leeuwen:

Bid Item #57 - Evaluation based on current product being used, with 300 wipes per canister and 6 canister per case. Bidder (F) quoted \$9.34 / can of 270 wipes, and 6 cans per case, (or 1620 wipes), or \$10.37 / can of 300 wipes.

Cell: AA19

Comment: Eric Van Leeuwen:

Bid Item #57 - Evaluation based on current product used with 300 wipes per canister and 6 canister per case. Bidder (H) quoted \$3.31/ can, of 75 wipes, and 6 cans per case, (or 450 wipes), or \$13.24 / can of 300 wipes.

Cell: AD19

Comment: Eric Van Leeuwen:

Bid Item #57 - Evaluation based on current product with 300 wipes per canister and 6 canisters per case. Bidder (I) quoted \$7.80 /can with 300 wipes/ can, and 6 cans per case, (or 1800 wipes).

Cell: AG19

Comment: Eric Van Leeuwen:

Bid Item #57 - Evaluation based on current product used with 300 wipes per canister and 6 canister per case. Bidder (J) quoted \$6.75 / can of 120 wipes, and 6 cans per case, (or 720 wipes), or \$16.875 / can of 300 wipes.

Cell: AJ19

Comment: Eric Van Leeuwen:

Bid Item #57 - Evaluation based on current product used with 300 wipes per canister and 6 canister per case. Bidder quoted \$7.01 / can of 175 wipes, and 6 cans per case, (or 1050 wipes), or \$12.01 / can of 300 wipes.

Cell: U20

Comment: Eric Van Leeuwen:

Bid Item #58 - Evaluation based on current product with 80 wipes per canister and 6 canisters per case. Bidder (F) quoted \$9.94/ can of 150 wipes, and 6 cans per case, (or 900 wipes), or \$5.29/ can of 80 wipes.

Cell: AA20

Comment: Eric Van Leeuwen:

Bid Item #58 - Evaluation based on current product with 80 wipes per canister and 6 canister per case. Bidder (H) quoted \$5.49/ can of 80 wipes, and 6 cans per case, (or 480 wipes).

Cell: AD20

Comment: Eric Van Leeuwen:

Bid Item #58 - Evaluation based on current product with 80 wipes per canister and 6 canister per case. Bidder (I) quoted \$5.49 /can of 80 wipes, and w/ 6 cans per case, (or 480 wipes).

Cell: AG20

Comment: Eric Van Leeuwen:

Bid Item #58 - Evaluation based on current product with 80 wipes per canister and 6 canister per case. Bidder (J) quoted \$7.00/ can of 75 wipes, and 6 cans per case, (or 900 wipes), or \$7.464 / can of 80 wipes.

Cell: AJ20

Comment: Eric Van Leeuwen:

Bid Item #58 - Evaluation based on current product with 80 wipes per canister and 6 canister per case. Bidder (K) quoted \$4.40/ can of 75 wipes, and 6 cans per case, (or 900 wipes), or \$4.69 / can of 80 wipes.

	Ι Λ	В	C	D IE	U	l v	M AA	AB A	A( AD	AE A	AF AG	AH .	A <b>l</b> AJ	AK	
1	Did # 15 /	85-026 Janitorial Supplies	C	J D JE		l v	VV AA	l Ab k	AU AD	I AL F	AI AG	I An	AI AJ	AK	
1 2	Biu # 15-4	83-020 Janitoriai Supplies													
2	* []	on is Evolusius of Colos Toy													
3	Evaluati	on is Exclusive of Sales Tax													
4	┨				(F) Royal	Paper Corp.	(H) Sierra (	Office Supply	(1) 10	Paper	(J) West Co	ast Janitorial	(K) Sac Val Ja	nitorial Supply	
5	Category V - Janitorial Trash Liners				Santa Fe	Springs, CA	Sacram	ento, CA	Frem	ont, CA	Placer	ville, CA	West Sacra	amento, CA	
	Estimated														
6	Bid Item #	Description	Quantity	Unit of Measure	Unit Price	Extended Price	Unit Price	<b>Extended Price</b>	Unit Price	<b>Extended Price</b>	Unit Price	<b>Extended Price</b>	Unit Price	Extended Price	
		Can Liner, .70 mil., 24"x23" For 7-10													
7	59	Gallon Can, Black - 1 Case	216	Case	\$11.66	\$2,518.56	\$14.98	\$3,235.68	\$15.93	\$3,440.88	\$15.30	\$3,304.80	\$14.52	\$3,136.32	
		Can Liner, 1 mil., 23"x31", for 12-16													
8	60	Gallon can, Black - 1 Case	25	Case	\$19.95	\$498.75	\$19.10	\$477.50	\$27.55	\$688.75	\$23.55	\$588.75	\$25.37	\$634.25	
		Can Liner, .9 mil., 30"x36" for 20-30													
9	61	Gallon Can, Black - 1 Case	102	Case	\$24.46	\$2,494.92	\$30.00	\$3,060.00	\$18.00	\$1,836.00	\$15.25	\$1,555.50	\$18.00	\$1,836.00	
		Can Liner, 2 mil., 40"x46" for 40-45													
		Gallon Can, Heavy Duty, Black -													
10	62	1 Case	576	Case	\$27.01	\$15,557.76	\$25.69	\$14,797.44	\$23.14	\$13,328.64	\$20.75	\$11,952.00	\$19.60	\$11,289.60	
		Can Liner, 1 mil. 33"x39", for 33													
11	63	Gallon Can, Black - 1 Case	48	Case	\$24.46	\$1,174.08	\$34.22	\$1,642.56	\$22.00	\$1,056.00	\$18.75	\$900.00	\$19.89	\$954.72	
		Can Liner, 1.5 mil., 40"x46" for 44													
		Gallon Can, Clear, Heavy Duty -													
12	64	1 Case	78	Case	\$19.14	\$1,492.92	\$19.33	\$1,507.74	\$20.86	\$1,627.08	\$17.50	\$1,365.00	\$19.18	\$1,496.04	
13		Sub-Total	-	_		\$23,736.99		\$24,720.92		\$21,977.35		\$19,666.05		\$19,346.93	
14		Prompt Payment Discount			0%	\$0.00	2%	(\$494.42)	0%	\$0.00	2%	(\$393.32)	0%	\$0.00	
15		Local Vendor Preference (5%)			0%	\$0.00	0%	\$0.00	0%	\$0.00	5%	(\$983.30)	0%	\$0.00	
16		Category Total				\$23,736.99		\$24,226.50		\$21,977.35		\$18,289.43	101	\$19,346.93	

Cell: AA9

**Comment:** Eric Van Leeuwen:

Bid Item #61, Bidder (H) quoted \$24.00/ case, w/ 200 liners per case, or \$30.00/ case of 250 liners. Other bidders quoted 250 liners/ case.

Cell: AA10

**Comment:** Eric Van Leeuwen:

Bid Item #62, Bidder (H) quoted \$25.69 / case w/ 500 liners per case, Vendor verfied case count to be 100, 500 liners was a typo. Price is \$25.69 / case of 100 liners.

Cell: AA11

**Comment:** Eric Van Leeuwen:

Bid Item #63, Bidder (H) quoted \$13.69/ case w/ 100 liners per case, or \$34.22 / case of 250 liners. Other bidders quoted 250 liner / case.

Cell: U12

**Comment:** Eric Van Leeuwen:

Bid Item #64 - Bidder (F) quoted \$23.93/ case w/ 125 liners per case, or \$19.14/ case of 100 liners. Other bidders quoted 100 liners/ case.

	Α	В	С	D E	U	V	W AA	AB	A( AD	AE	AI AG	AH	AI AJ	AK
1	Bid # 15-48	35-026 Janitorial Supplies			•	'	•	'	•		· ·		•	
2														
3	* Evaluatio	n is Exclusive of Sales Tax												
4					(F) Royal F	Paper Corp.	(H) Sierra	Office Supply	(1) JC	Paper	(J) West Co	ast Janitorial	(K) Sac Val Janitorial Supply	
5	Categor	y VI - Miscellaneous "No Excep	otion" Items	i		Springs, CA		nento, CA	Fremo	ont, CA	Placer	ville, CA		mento, CA
			Estimated											
6	Bid Item #	Description	Quantity	Unit of Measure	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
		Floor Polish - Wax; Heavy duty,												
7	65	Johnson Vectra - 5 Gallon Pail	14	Pails	No Bid	#VALUE!	No Bid	#VALUE!	\$94.00	\$1,316.00	No Bid	#VALUE!	\$65.50	\$917.00
		Toilet Tissue - 1 Ply; 1,000 sheets Per												
		Roll; 96 Rolls Per case -	111	Conn	No Did	457,511,151	No Die	#\/ALLIEL	¢20.05	¢4.020.20	624.70	¢4.564.00	Na Dia	#\/^!!![
8	66	1 Case Toilet Tissue - 2 Ply "Wheat Straw	144	Case	No Bid	#VALUE!	No Bid	#VALUE!	\$28.05	\$4,039.20	\$31.70	\$4,564.80	No Bid	#VALUE!
		Fiber" 506 Sheets per Roll - 80 Rols												
		per Case (Back up for SLT) -												
9	67	1 Case	1	Case	No Bid	#VALUE!	No Bid	#VALUE!	No Bid	#VALUE!	No Bid	#VALUE!	\$45.00	\$45.00
														·
		Paper Towel Roll - White 7.5" wide,												
10	68	700" roll, 6 Rolls Per Case - 1 Case	6	Case	No Bid	#VALUE!	No Bid	#VALUE!	No Bid	#VALUE!	No Bid	#VALUE!	\$58.95	\$353.70
		Paper Towel Dispenser for Kleenex												
		#25630 Towels Only - 1												
11	69	Each	5	Each	No Bid	#VALUE!	No Bid	#VALUE!	No Bid	#VALUE!	No Bid	#VALUE!	\$0.00	\$0.00
12	70	Rags - 12.5" x 16.45" - 180 Per Box - 1		Daves	No Did	#\/ALLIEL	No Did	#\/ALLIEL	No Did	#\/A   E	612.50	¢2.025.00	¢12.50	ć1 97F 00
12	70	Box Purell NXT Hand Sanitizer 8 /1000 ML	150	Boxes	No Bid	#VALUE!	No Bid	#VALUE!	No Bid	#VALUE!	\$13.50	\$2,025.00	\$12.50	\$1,875.00
13	71	bags per case	50	Case	\$71.61	\$3,580.50	No Bid	#VALUE!	\$59.92	\$2,996.00	No Bid	#VALUE!	\$62.00	\$3,100.00
15	, -	augo per cuse	30	Cusc	7,1.01	<b>\$3,300.30</b>	INO BIG	# V/\LOE.	Ų33.3 <u>2</u>	ψ2,330.00	I I I I I I I I I I I I I I I I I I I	# V/ (EGE.	702.00	ψ3,100.00
14	72	Purell NXT Hand Sanitizer Dispensers	50	Each	\$0.00	\$0.00	No Bid	#VALUE!	\$0.00	\$0.00	No Bid	#VALUE!	\$0.00	\$0.00
		Lquid Soap for Dispenser - Hand												
		Soap, w/ Pink & Klean Cleanser, 800												
15	73	ML Bag, 12 Bags/case	100	Each	No Bid	#VALUE!	No Bid	#VALUE!	\$27.33	\$2,733.00	No Bid	#VALUE!	\$26.50	\$2,650.00
		Liquid Soap Dispenser for GOJO							4					4
16	74	Soap, 1 Each	45	Each	No Bid	#VALUE!	No Bid	#VALUE!	\$4.42	\$198.90	No Bid	#VALUE!	\$0.00	\$0.00
		Royal Type B Vacuum Cleaner Bags,												
		Micro Filtration, Allergen Style,												
17		Disposable, 3 bags per pack	85	Packs	No Bid	#VALUE!	No Bid	#VALUE!	No Bid	#VALUE!	\$8.75	\$743.75	\$6.25	\$531.25
		Royal Style B Vacuum Cleaner Belts, 3			1.00 5.00		110 210		110 2.0			ψσσ	70.20	φ.σ.σ.σ.
18	76	Belts per Pack	24	Packs	No Bid	#VALUE!	No Bid	#VALUE!	No Bid	#VALUE!	\$1.25	\$30.00	\$1.70	\$40.80
19		Sub-Total				\$3,580.50		No Bid		\$11,283.10		\$7,363.55		\$9,512.75
20		Prompt Payment Discount			0%	\$0.00	2%		0%	\$0.00	2%	(\$147.27)	0%	\$0.00
21 22		Local Vendor Preference (5%)			0%	\$0.00	0%		0%	\$0.00	5%	(\$368.18)	0%	\$0.00
22		Category Total				\$3,580.50		No Bid		\$11,283.10		\$6,848.10		\$9,512.75
23 24		Assembled Tatala Catalana NO				<b>60.00</b>				ć7 02F 20		620.00		ĆC 274 05
24		Awarded Totals - Category VI				\$0.00				\$7,035.20		\$30.00		\$6,371.95

Cell: AD16

**Comment:** Eric Van Leeuwen:

Bid Item #74 - Bidder (I) quote 4.42 eac at cost, unable to provide at No Charge as required. Awarding to next lowest bidder (K).

Cell: AG17

Comment: Eric Van Leeuwen:

Bid doc had part number for 10 pack with 3 pack for descrption and quantity. Bidder gave price for both packs, 10 pack shown in bid eval.

Cell: AJ17

**Comment:** Eric Van Leeuwen:

Bid doc had part number for 10 pack with 3 pack description and quantity. Bidder gave price for both packs, 10 pack shown in bid eval.

Cell: AG18

**Comment:** Eric Van Leeuwen:

Bidder indicated not available in 3 pack only available each.

Cell: AJ18

**Comment:** Eric Van Leeuwen:

Bidder indicated not available in 3 pack only available each.

	A	В С	S	Т	Х	Z A	AB AB	AC A	<b>I</b> AE	AF	A <b>(</b> AH	Al	
1	Bid # 14-485-035 Ja	anitorial Supplies		-					-			-	
2													
3	* Evaluation is Excl	usive of Sales Tax											
4			(F) Royal	Paper Corp.	(H) Sierra (	Office Supply	(I) JC Paper		(J) West Co	oast Janitorial	(K) Sac Val Janitorial Supply		
5	Summary of A	ll Categories		Springs, CA		ento, CA		nont, CA		ville, CA	West Sacramento, CA		
6	Category	Description	Catego	ory Total	Catego	ry Total	Categ	ory Total	Category Total		Category Total		
7	Category I Chemicals		\$9,7	43.16	\$14,5	04.92	\$14,	214.51	\$9,076.89		\$10	,245.34	
8	Category II	Utensils	\$3,9	87.48	\$11,5	55.28	\$10,	155.16	No Bid		\$10	,040.93	
9	Category III	Floor Care Products	\$1,651.33		\$3,424.48		\$2,2	154.84	No Bid		\$2,	163.77	
10	Category IV	Paper Products	\$76,566.95		\$82,529.37		\$69,839.37		\$63,334.77		\$68	,572.78	
11	Category V	Trash Liners	\$23,736.99		\$24,226.50		\$21,977.35		\$18,289.43		\$19	,346.93	
12	Category VI Miscellaneous "No Exception" Items		\$3,580.50		N/A		\$11,283.10		\$7,363.55		\$9,512.75		
13	Sub-Total		\$119,266.41		\$136,240.56		\$129,624.33		\$98,064.64		\$119	,882.50	
		_											
14		Additional Purchase Discount (\$2,000.00)	50%	\$1,000.00	35%	\$1,300.00	30%	\$1,400.00	30%	\$1,400.00	30%	\$1,400.00	
15	Evaluated Total		\$116,685.91		\$137,540.56		\$131,024.33		\$99,464.64			\$121,282.50	